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k. The volumeiric modulus of elasticity 15 called @

(A) bulk modulus (B) 3.dimensional modulus

(@) proof modulus () mene of these

sgow's ratio for an Anisotrope material may be

2 The upper bound of Pol

(B) between 05 snd 1.0

(A) between 0.3 and 0.5

(. 056 (D) abave 10
3. Rar iy a member which is subjected to
(A) axial pull (B) axial pOmpTESSion
(Q) weeentric pull (D) mnone of hese
Lor of safety under dypamic loading, #5 compared to facter of <:fety

4. The fac
gnder stane loading is *
(A) wmwore (B) equal
Q) less 1)) mome of these

. The eross-section of a shalt is .

(A) =olid circular only (B) sguace only

() hollow circular only (M) ail of thess
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A Impact test enables one to estimate the property of :

(A) hardness (B} toughness
(C)  strength (D) creep
7. Mohr stress circle diagram agrees with the analytical solution :
(A) approximately {B) exactly
(C) partially (D) all of theso

8. The ‘rail’ of Indian Railways is the example of :

(A} beam on elastic foundation (B} c¢ontinuous beam

(C) overhanging beamn ()  semi-cantilever beam
9, Consideration of shear centre is Important for beams of :

{A)  thin sections (B} aeroplanes

(C) angle sectiong (I3} all of these

10. A continuous beam iz deemed as ‘deep’ when ratio of span T and ‘D) is :
(A) less than 2.5 (B) less than 1.0

(C) more than 3.0 (1Y) more than 5.0
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11, The ends of vertical stirrups are anchored in &

(Al compression zone (B) tensile zone
1C} neutral axis (I3 none of these

12, The value of bond stress for hars in compression, as compared to value of

bond atress for bars intension should be

WA)  decrcased by 25% (B)  kepr equal
1€ increased hy 25% (I3)  deereased by 107

13:  The depth of a T-beam as halinced section is based on the sssumption

that ;
(A} N.A. lies in tho rib
{B) Compression taken by conereie nrea in the rib neglected
() Both of the abgve
(1Y} None of the above
14, The torsional effect is considerable in case of :
14)  L-beam (B) T-beam
(€) Heam uaround stair (D} Both (A) and ()

15, Maximum spacing for sheur reinforcement measured along axis of a member

should not excoed for vertieal stivrups by -
(A)  0.95d (H) d

{C) 1.25d @Dy, 1.5d
ABC)-PWTY2015- A i



6. A cireular bunker and conical dome have a ring beam at their junction. The

ring beam is designed for :
(A) hoop tension (B) hope compression
(C) meridional tension (1)) nene of thess
17. 'The raversible nature loads are :
{A) earthguake load (B} wind load

(D} none of these

(C) both (A) and (B)
i8.  In ultimate strength design, the internal load is increased by :
(A} load factor : (B) factor of safoty

(C) limiting factor (D} . all of these
19.  Buckling of top flange in plate girder is prevented by !
(A) lateral stiffoner (B) longiludinal stiffoner
(C) shear stiffener (D) none of these
20. A plate girder is :
(A) built-up beam {B) beam-caolumn

(C) built-up column {13} none of these

AE(C)-PWD/2015—: PT.O.
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21.

22.

23.

Number of web plate employed in box-type plate girder may be :
(A) only 1 (B) zero
(C) 2 or more (D) none of these

If increase in length of a member in a truss due to rige in temperature causes

no change in the support reactions, then the truss is called :
{A) Warren truss (B) Determinate truss
(C) Unstable truss (D) Indeterminate structure

The maximum number of unknown forces can be determined in & concurrent

coplanar force system under equilibrium is :
(A) zero {(B) 2
(C) 3 (D) &

For o cantiloever beam of length 'L’ carrying a u.d.]l. w per unit length, the

deflection at the free end is given by :

wi? wl?
A BEr B 4RI
wlf . wi?
(C) SR D) 1981
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vh  If a cantilever beam of length | and flexural rigidity EI is carrying a

concentrated lvad P at the free end, the total stramn energy will be :

: P'_-'.Ll
ST
32e 3
i P
BEI

(B

(13}

L T
3EI

P3L3
19E1

26 Clockwize moment M are acting at both the ends of & wniform simply

supported beam. The

will be :
A 05
{1 2

ratio of slope at the end to the slope at cenire

(13)

1

T 3

127, Ifa moment M is applied to the hinged end of & prismatic propped csasieer

then the moment at the fized end will be :

(A) M
N
(C) %

ARC)I-PWD/ZO1T5—A
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(B]

(D)

M
2

M
4
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98  The area of analogous column of a propped cantilever of length L and constantﬂ

El is equal to :

L 9L
3L . g
(C) B (D) oo (infinity)

99. A three hinged parabolic.arch subjected to uniform load w per unit horizontal

length the maximum bending moment 1s

[01,2 sz
(A) T (B) 3
12
(C) % (D) zero

30. A symmetric two hinged parabolic arch has span L and rise #. The hqrizonta'.

thrust in the arch due to umiformly distributed load w is :

sz £ : wl?
(A) ’3—]1,_ (B) 3
wl? wl?
©) 5 T
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32.

The shape of the cable suspended between two points 18 !
(A) parabolic {B) catenary
(C) circular (D) dependent upon the loads

A cable of span L and central dip ‘d’ is subjected to uniform load, i per unit

horizontal length. The homzontal component of tension in the cable is :

wl? wl’

(A) — =
A) 1 (B) 8d

wl? wl?

{ - { _—
C) 192 1) T

Euler's hyperbola is the graphical expression between -
(A) stress and strain in the column

(B) critical stress o, and flexural rigidity El

, .. Lat
(C) criticyl stress o, and slenderness ratio 3

(D) nong of the above

The allowable stress in o column can be increased by !
(A) ineressing the radius of gyration

(B) increasing the eccentricity

(C) increasing the slenderness ratio

(D) none of the above
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35, A circular ring is simply supported on egually spaced columas and
subjected to u.dl over enlire length. The twisting moment in the beam i8

maximum :

(A) at the column support

(B} at the point of contraflexure

(C) at the point where shear furce is zero
(D) none of the above

36. Elasticity of soil is the property by which it regains its original position, when

the load is :
(A) appled (B) extended
() prossed (I removed

37.  The ratic of volume of voids to tatal volume of selid mass s Enown as |

(€} Density (D) Specific gravity

38. TFor soil a rise in water-level may reduce :
(A} Deasity (B) Bpecific gravity

(C) Porosity (D} Bearing capscity
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39. The praperty of zoil by virtue of which it deforms rapidly without rupture

or volume change rebound is called
(&) Duectility (B) Plasticity
(C)  Permesnhbility ~+ () Porosity
40. Sail between soil and clay 13 called !
(A) Shaie (B) Hard pan
(C) Loam (D) Sike
41 Saturated clay tests for shear strength can be performed by -
(A) Tri-axial compression test
(B) Direct shear test
(%) Unconﬁned compression test
D) None of the above
49 The angle of dispersion for column or wall 3¢ taken as @
(A) 30 (B) 40
(C) 45 (I &0
43, Siope failure through the foe is called !
(A) Face fallure (R) Base failoTo

(©) Toe failure (D) Slope failure
AR(C-PWD2015—a 11 P.T.O
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At

47,

48,

Grillage foundations are provided, when
(A) He‘a\}v isolated loads sxisia

(B) Soil is hard

(1) Piles are not possible

(D) I'laft foundation is unsuitable

The escape of pore water due to long static load and its compression thersfrom

is called ;
(A) Clompaction ) (B} Hwelling
() (Coneclidation (¥ Subsidenca

The mimimum centre to cenire distance botween frietion piles of 1 m

diameter is

{4y 1lto 2 {G) 2 %08

() 3w4 1) 4 tod

The piles used to ingrease the bearing capacity of the soil are called @
(&) Frelion (B} Floating

(Cy  Compaclion | (1)} Compression

Undpr-reamed piles are normally °

{A) Precast (B1 Bored

(%y Dniven {D) Bunken

AW(C)-PWIN2015—A 12



49.  Under certain conditiong, the digadvantage of timber piles is .
(A)  leas strength | (B} less penctration
(C)  less durability ‘ (D) none of these
0. The Westergaard ¢quations are used for the analysis of :
(Al Clayoy soil {B) Stiratified soil
(C) Sandy soil (D] Cohesive s0il
31. A wearing surface prepared by laying bituminous concrete is culled ;
(A} Sheet asphalt () Wearmg coat
(C) Renewal goat (T Carpet
52. By providing a ruling gradient, load carrying capacity is reduced by ;
(A 15% | (B 20%
(C) 10% D) 40%
83.  Cross slope given to road surface is called :
(A) Blope (B) Cross slope

(2) QGradient (D} Cress fall

AE(C)-PWD/2015-—-A 13 PTO.



54. Om hilly r'oads. widening on curves is done :
{A) On the inner side
(8) On the ouler side
(C) More on inner side and less on the euter side
(I3 None of the abeve
55. Crushed or broken stone for Toad construetion is called
(A) Grit (B} Aggrogafe
(C) Ballast (1) Macadam

5B, Minimum tamber provided for bituntinous surface oo hill rosds 18 ©

(A) 20% (R) 2250
(©) 25% D) 34

57. An underground passage for permitting maximum traffic iz culled

(A} Road tunoel (B} Tunnel way
() Bubway () Tinder passage

58  The length of curve between straight and start of circular curve is

known a8 @
(A) Primary length © (@) Approach jength
{(C) Transition length (1) None of these

AR(D)-PWD/2015—4 14



59. The stopping distance of & vehicle 15 equal 1o !
(A) lag distance
(B} braking distance
() sum of (A} and {(B) above .
(D) difference of (A) and (B)

60. A highway mects a district ruad on a crossing, The vehicle should move

through on :
(&) district road ) (B} highway
()} any road (D) mnone of these

§1. Base line in the layout of a chaih survey is !

(A). longest main survey (B) checkline

() ticline ~ (D) none of thess
82. Which of the following ean be shown in a plan ?

(A) coniferous forest | {B) meadow

(C) swamp (M) all of these
83, Curves of equal deﬁth arc called :

(&) isochored (B) isohypes

(C) isobaths (D) isopotcntials
AR(C)-PWDI2015—A 15 P.T.O.



64. The curvature correction in levelling is always !

(A) negative ' (B) positive
(C)y zero (D} none of these
85. The characteriatics of contours are ; )

(Ay Contour hne must close itself
(B} These have no sharp turnings
() Closer drawn contours show stecp slopes
(I3 All of the above
6. The permanent adjustment of theodelite includes :
{A) elimination of parallex
(B) adjustment of telescope
(C) adjustment of vertical circle index
(D) both (B) and () above
87. 'Tweo (;bjects ‘may be visualized simultaneously by a :
(A) pantograph : (B) sonometer

{C)y sextant (D) planimeter
AR -PWD/2015—A 16
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Fluid continuum i a conecept in which :
A fluid lg nom-homogeneous

H) fluld density is very low

' fluid particles arc;' very closcly spacod
D) none of the ahove

Spherical shape of droplets of mercury is due to -

Al high density (B} high surface tension
(") high adhesion (D) low vapour pressure

When = static liguid is subjected to uniform rotation in a container the free-
surfluce assumes a shape ol ;

‘Al & vune (B} a circular cylinder

0 2 parabeloid of revolution I»n an ellipsoifi of revolution
Normel scecloration in fluid flow situations exists only when :

(A} streamlines are straight and paralicl

(B} the flow i3 two-dimensional

() the streamlines are carved

(D} the flow is unsteady

ABCHFPWD2015—A 17 PTO



~1
51

A stagnation point is a4 point !

(A} where the pressure is zevo

(B) where the total energy is zero

({0) where thg velocity of flow reduces to zero
D) where the total energy is maximum

The Buckingham-Pi theorem is widely used in the dimensional analysis and

expresses the rosulting equation in ierm of !

(A} the dependent and independent varables

(B} n-dimensionless parameters

(C) (n—m) dimensionless p'ar:mml.ers

(D) none of the abhove

The existence of houndary layer is on wecount of :

(A) fluid density (B) gravitational effect
() Nuid viseosity (D) surface tension

For sand beds, the Darey's law 18 ¢alid if the Reynolds number defined by

R, = = (2—0 ja less than @

: X

(A 01 (By 1
(¢ 1000 i 10

AE(C)-PWD!?OI-B—A 18



76.  The thickness of turbulent boundary layer over a flat plate incroases with
distance ‘¢’ along the plate more rapidly than in the laminar one. Other
parameter remaining the same, it iy proportional to -

(A) 48 | (B) 12
€ . D oz
Ti. A streamlined body is dofined as n body. about which -
(4) the flow is laminar
(B)  the flow is along streamlines
{C) the flow separation is supproése‘d
(1) the drag is zero )
'%8. For turhulent flow is smooth pipes, the entrance length is tsken as ;
(A) 114 (B} 75
(€ 50 ' (D} 100
79.  Water hammer is a phenomenon which is caused by :
(A) Sudden epening of & value in a pipeline
(B) Sudden closure (pariial or complete} of a valve in pipeflow
(€)  Incompressibility of fluid
(1) The pipe material being elastic
80.  Alternate depths of flow in a channel are :
'(AJ the depths at which the total énergios are same
(B) the depths which oeeur at the same specific e.nergy

() the depths for the same specific force

(D) the conjugate depths
AR(Cy-PWD/2015 —A 19 PTO.



81.

B2.

83.

84,

85.

Which of the following disfricts in Himachal Pradesh receives highest
rainfall ?

(&) EKuallu (B) Mandi
(3 Solan : () Kangra

Lime stone is most found in which of the followibg argas’in HP.:?

(A) Hamirpur (B) lLeh and Spiti
() Bilaspur | ) Shimla

Which of the following districts of I1.P. is known for Humus Mountain speletal

soils ?

(A) Kinnaur (Bl (*hamba
(C} Una (1 Rullu
Which of the following form the borde;« of HT. ?

(Al Delhi (R} - Tibet

() Guyarat (D) MPE:

Woal weaving in ILF. is :
(A) Small scale industry
(B) Cottage industry

(G} Public sector enterprise

(M Cram Panchayal owned industry

AE(L‘-}PWD.‘?.UlSmA 20)



86. In which of the following years Himachal Pradesh was a centrally

administered torritory ?

(A) 1950 | (B) 1951

(C) 1962 ‘ (D) 1955
87.  Jhoor is the major dance in :

(A) Mizoram (B) Chhattisgarh

(C} Jharkhand . (D) Himachal Pradesh
88. Chait Durgasthmi is celebr:amd‘ in the Shakti Shrines of ;

(A} Hathkole (B)" Kullu

(€} Chamba (D} Paonta Sahib -~
89.  Buffalo fights are the highlight of

(A) Ladarcha Fair (B) Bari Fair

(C) Lahaul Festival (D) Haryal Fz;iir
M. Which of the following recipes of H.P. is not unique ?

{A) Bada/Poldu {B) Nasasta

(€} Dal Bhati {DD) Sweet Meat
AE(C)-PWIN2015---A 21 . P.T.O.



o1.

95.

94.

95.

Which of the following statements about the Diﬁtxict Collector 18 true 7
(a) He is the Chief Co-ordinator of district administration.

(B} He is the Chawrman of the District Pln'nniné Committes always.

() UHe is the Chalrman of the' Metropolitan Area Planning Cormmmittee.
D) He is the Chief Executive Officer of the Zila Parishad in all the states.

Who of the following was the Chairman of the Expenditure Reforms

Commlssion, 2001 ?
(4) LXK Jba (B) K.P. Geethakrishnan
(¢) T.S.R. Subra.zﬁan-iam (D) Raghu Ram Rajan

A leader of the House in Parliament is rio,tvav-ailnble for eonsultation by the

presiding officer of the House on :

(A) arrangement of government business

(B) discussion on matters of urgent public importance

(C) a motion o0 suspond # member from the services of the House
M) a motion of no-gonﬁdenee ag:iinsl. tﬁe govermment

Minisﬁy of Social Justice and Empowerment deals with the welfare of

(&) SCET/OBC (R) Disubled and minorities
(G} Senlor atizens My Al of these

The first Administrative Reforms Commisgion Was appoiuted in the year

(A) 1962 ' (B) 1964
(C) 19686 ‘ (D) 1968

ATCH-PWD/2015—A 22




96.  Which of the following statements about the election of the President of India

ig not correct 7

(A) Presidential election must be held before the expiry of the term of his

office.
(8] Election of the President is held through an electoral college.

(C)  Election of the President cannot be held if there are some vacancies in

the electoral college.
(D) Only a citizen of India can contest election to the office of President.

97. Which of the following is matched correctly 7

(A) Bio-technology Policy — 2001
(BY Industrial Policy — 2003
IC1 Horticulture Policy — 1985
(1) Information Technology Policy — 1980

98, The location of Peter Mokabe World Cup Stadium 1% in ¢

(A) Polokwane, South Africa (B) Damisk, Syria

(C) ‘Tehran, Iran (m Eﬂngkulr._ Thailand
99, Roger Federer is associated with

(Al Vollexball (B) Foothall

(C) Tenmnis (1] Cricket
100. Akbar was born on :

-I{.ﬂn 15th October, 1542 (B) 15th December, 1545

(C) 30th January, 1542 (D) 15th September, 1542
AEC)-PWINE015—A 23 P.T.0.




